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KERBRHERERSEZE (ERSFKS EXKHF R K ) )
o |KEBE E| oH |BHEE |[DEE| X% (15t # =&
S g BmE| A A i |
c | ¢ | E me/l | mg/1 | mg/1 | mg/1 | mg/I | mg/1 | BE)

1 [55] 23.8/ 19.8[ 60.1| 7.76 852
2 iR 24.5( 20.2 663] 8.07| 43.0| 60.0 706 2.7 23.87 0.49 949
3 = 24.51 21.1 308| 7.88 343
4 [55] 25.0( 20.6 245| 7.84 269
5 = 24.01 19.6 452 7.80 495
6 [55] 23.5[ 19.6 364| 7.89 402
Ji = 25.5] 20.9 353 7.84 649
8 [55] 23.8] 20.2[ 4,530| 8.16 4,530
9 = 24.01 20.0] 1,472 8.10 3,093
10 = 24.3] 19.9 695| 7.86 698
11 [55] 26.0[ 20.7 364| 7.92 512
12 = 26.1] 20.3 729| 8.01 831
13 = 23.2] 19.8 4811 7.91 711
14 [55] 23.2( 19.2 323| 7.81 569
15 = 2431 19.1 487\ 7.86[ 43.0[ 54.0 627 2.3 19.99 0.44 556
16 = 23.0] 18.7 346] 7.85 339
17 [55] 22.0 19.5 250| 7.84 261
18 [55] 21.9( 18.3 273| 7.82 305
19 = 23.8] 19.1 194 7.72 242
20 = 28.0] 20.2 134 7. 81 157
21 = 27.0] 20.6 121 7. 81 134
22 = 25.8| 20.5] 96.0/ 7.80 126
23 = 26.01 21.7| 89.7| 1.71 148
24 = 27.01 20.3] 82.71 1.72 99
25 [55] 25.01 19.6] 66.9] 7.72 76
26 = 24.01 20.4 7311 71.79 896
27 = 26.0] 20.4 4111 7.67 604
28 = 30.4] 20.8 222| 7.68 312
29 = 25.2| 20.4 2601 7.72 306
30 = 23.0] 19.4 170 7.66 219
31 = 24.51 19.6 146 7.68 191

FEi5 24.8] 20.0 488] 7.83| 43.0[ 57.0 667 2.5 21.93 0.47

=BE 30.4( 21.7| 4,530] 8.16] 43.0[ 60.0 706 2.7 23.87 0.49

= 1K 21.91 18.3| 60.1] 7.66] 43.0[ 54.0 627 2.3 19.99 0.44




SM2E7 /%
REEAETIRA/KE KEABRERHKSE (BRFKS)
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KERABBERREE (ERFKS EaKith (B2 K ) )
o |KEBE E| oH |BHEE |[DEE| X% (15t # =&
S g BmE| A A 5o |® =
C C E mg/l {mg/l {mg/l [ mg/l | mg/l mg/|
1 [55] 23.8] 20.5 2.8] 7.40
2 i 24.5] 20.0 2.3 7.33] 43.0] 47.0 102 8.3 0.10f <0.02
3 = 24.5] 20.2 3.2 7.40
4 [55] 25.0]1 21.1 3.2| 7.46
5 = 24.01 19.8 4.0 7.38
6 [55] 23.5 19.5 2.4] 7.38
1 = 25.5 20.9 3.0 7.43
8 [55] 23.8] 20.2 3.1 7.40
9 = 24.0] 20.0 3.8/ 7.08
10 = 24.3] 19.9 2.1 7.17
11 [55] 26.0] 20.4 2.5 7.33
12 = 26.1] 20.2 2.4 7.43
13 = 23.2] 19.9 2.0 7.35
14 [55] 23.2| 20.3 2.8] 7.43
15 = 24.3] 19.2 2.8 7.38] 48.0] 50.0 105 1.7 0.08 0.02
16 = 23.0] 18.6 2.0l 7.40
17 [55] 22.01 19.8 2.5 7.41
18 [55] 21.9] 19.2 2.6| 7.45
19 = 23.8] 19.4 2.7 17.35
20 = 28.0/ 19.6 2.6 7.46
21 = 27.0] 20.8 2.6/ 7.48
22 = 25.8| 20.8 2.9 7.50
23 = 26.0] 21.3 2.9 7.51
24 = 27.0] 21.8 2.3 7.51
25 [55] 25.01 20.9 3.2| 7.46
26 = 24.0] 20.8 2.9 7.43
27 = 26.0] 21.3 1.9] 7.28
28 = 30.4] 21.0 1.3 1.217
29 = 25.2] 21.0 1.8 7.33
30 = 23.0] 20.4 2.1 7.34
31 = 24.5 20.3 2.5 7.39
Ty 24.8] 20.3 2.6 7.38] 45.5| 48.5 104 8.0 0.09( <0.02
xe 30.4] 21.8 4.0 7.51] 48.0[ 50.0 105 8.3 0.10 0.02
=K 21.9] 18.6 1.3] 7.08[ 43.0] 47.0 102 1.7 0.08[ <0.02




